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O OHT % 1 R 4TH 1% 39X 1

O OHT 8%& 2 R 4TH 1% 39X 1

O OHT 9% 1 WENE 4TH 2% 39X 2-1
O HT 9% 3 WENE 4TH 3% 39X 2-2
O HT 9% 4 WENE 4TH 5 39X 2-3
O HT 9% 5 WENE 4TH 6% 39X 2-4
H FLOHET 11% 3 WS 4TH 13% 22-1#X 16

HORHT 1043 1 HE BN 1TH 1% X 1-1
H FELOHET 104% 3 WS 3TH 153% 26fE X 18-1
H FELOHET 104% 4 HH 3TH 397 231X 10

H FLOHET 104% 5 WS 3TH 156% 267X 184
H FELOHET 104% 6 HHI 1TH 128% 178X 10

HORHT 1043 7 HE BN 1TH 2% X 12
How Wy 104% 8 HWER R 1TH 3% KX 1-3
R OHT 1043% 9 HE N 1TH 316% X 1-1
e ow Wy 1043 10 HE BN 1TH 317% X 1-2
R T 1043% 11 R 1TH 318% 2(HX  1-9
o W7 104 12 WEARE  1TH  320% PR 1-4
R OHT 104% 13 HE BN 1TH 3213% 2fX. 1-5
o W7 1045 14 WEARE  1TH  348% K 1-6
o'Wy 1043 15 HE BN 1TH | 314% X 1-7
o W7 104% 16 WEARE  1TH  315% oK 1-8
e ow Wy 1043 17 HE BN 1TH | 80% 22-11X  5-3
How Wy 1043 18 HE BN 1TH 81% 22-115X 54
How Wy 1043 19 HE BN 1TH | 319% X 1-10
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WO Wy 104% 20 RN 1TH 319% 2K 1-10
OB Wy 104%& 21 YRS 1TH 347% AFX 1-11
WO Wy 104% 22 RN 1TH 347% X 1-11
O OHT 104% 23 WENE 3TH 154% 261X 18-2
WO Wy 104% 24 YEES 3TH 155% 26fHX  18-3
O OHT 104% 25 WENE 3TH 155% 261X 18-3
O T 104%& 26 WENE 3TH 40% 23K 11
OB Wy 104%& 27 RN 1TH 3227 AFX 1-13
OB Wy 104%& 28 YRS 1TH 3227 AKX 1-13
WO Wy 1042 29 NI 1TH 5% X 14
OB Wy 104% 30 YN 1TH 5% R 14
WO Wy 104 31 HEES 1TH 5% X 14
WO Wy 1058 1 HEES 1TH 3447% 2K 19-1
WO OHT 105% 3 W 1TH 345% 2MHX 19-2
WO OHT 105% 4 W 1TH 346% 2FX 1-12
WO OHT 1063 1 W 1TH '3%5 UEX 2
43 E|
WO OHT 1063 1 W 1TH 341% X 16
Sy B
WO OHT 106% 2 YEELN T 1TH 340 2HX 15
WO OHT 1075 RN I 1TH 324% 2K 3
WO OHT 108% 1 BN 1TH 325% X 4
| 43 E|
WO OHT 108% 1 BN 1TH 339% 2K 14
43 E|
WO OHT 108% 2 BN 1TH 326% UEX 5
HWoE T 108% 3 YEELN T 1TH | 3275 2HX 62
HOEOHT 109 1 YR 1TH 329% X T2
oWy 109% 2 B8 I 1TH  260% SEIX 71
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o\ HT 109% 3 R 1TH 2617 X T2
HOEOHT 109% 4 M 1TH 2497 AHX 10
o\ HT 109% 5 R 1TH 2457 X8
HOROHT 109% 6 M 1TH 338% 2K 13
HOE HT 109% 7 R 1TH 329% 2K T2
HOROHT 109% 8 M 1TH 338% 2K 13
HOEOHT 109% 10 M 1TH 263% X 74
HOEOHT 109% 11 M 1TH 2427 AHX 5
HORHT 109% 13 M 1TH 250% AHX 11
OB T 109% 14 Hi S 1TH 2407 4EHX 3
HOROHT 109% 15 M 1TH 2417 AHX 4
OB T 109% 16 HiE S 1TH 2637 X 79
HoE HT 109% 17 HEERS 1TH 2677 X 78
How Wy 109% 20 HE BN 1TH 262% X 73
How Wy 109% 21 HE BN 1TH 264% X 7-10
How Wy 109% 22 HE BN 1TH .Eﬁﬁ X 12
o'Wy 109% 23 BN 1TH 331% X 74
i LT 109% 24 HWEN 1TH 332% 2K 20
o'Wy 109% 25 HE BN 1TH 330% X 73
e LT 1097 26 RN 1TH 2437 AKX 6
e LT 109% 27 RN 1TH 'zgﬁ AHIX 7
e LT 109% 28 HWHEN R 1TH 267% X 78
e LT 1097 29 RN 1TH | 265% X 76
How Wy 109% 30 BN 1TH .2M§ X 75
e LT 109% 31 RN 1TH | 2657% X 76
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Hi FELOHET 109% 32 HEES 1TH 2667 2 X 7T
HOEOHT 109% 33 M 1TH 266% 1 3HX 711
R T 110% RN 1TH 335% 287X 10
HOROHT 110% 1 M 1TH 3367 X 11
H FLOHET 1% 1 R 1TH 2467 X 9-1
HOROHT 111%E 2 M 1TH 247 % AKX 9-2
HOEOHT 111% 3 M 1TH 248% AKX 9-3
HOEOHT 112% 1 HE B 1TH 10%& X 3-1
HORHT 112% 2 HE BN 1TH 235% X 1-1
H FELOHET 112% 3 WA 1TH 2367 X 12
HOROHT 112% 4 HE BN 1TH 237% X 1-3
OB T 112% 5 HiE S 1TH 251 % HEHX 14
H FELOHET 112% 6 HHI 1TH 2527 4X 15
How Wy 112% 7 HER 1TH 253% AEX 1-6
How Wy 112% 8 HWER 1TH 254% X 1-7
How Wy 112% 9 HER 1TH '2%5: AfX 1-8
o'Wy 1127% 10 BN 1TH 256% X 1-9
i LT 112% 11 HWEN 1TH 2347 AKX 1-10
o'Wy 1127% 12 HE BN 1TH 11% X 3-2
e LT 112% 13 WS 1TH 125 X 3-3
R OHT 112% 14 WS 1TH 13% X 34
e LT 112% 15 HWRN 1TH 143 X 35
e LT 112% 16 HEAN 1TH 15% X 3-6
How Wy 1123% 17 BN 1TH 16% X 3-7
e LT 112% 18 WS 1TH 175 X 3-8

P B X R S




— H OB xR % 5 7
75 B P #
i kE . F W T R
OB T 113% 1 HiE S 1TH 275 X 6
HOEOHT 113% 2 M 1TH 213% THX 2
Hi FELOHET 113% 3 R 1TH 67% X 17
5y E
O OHT 113%& 3 WENE 1TH 4% 20-14X. 1
53 EHAHE
HOE HT 113% 3 HEES 1TH es 22-19HX. 4
53 EHaHE
HOROHT 113% 4 M 1TH 287 X 7
HOEOHT 113% 5 M 1TH 201% 6HX  1-1
HOEOHT 113% 6 M 1TH 2067 61X 1-2
HORHT 113% 7 M 1TH 205% 61X 1-3
H FELOHET 113% 8 WA 1TH 26% 1#X 5
oW HT 113% 9 HE BN 1TH 207% 6HTX 14
O HT 113% 10 WS 1TH 2047 6TEX  1-5
OB T 113% 11 i 1TH 2087 61X 1-6
How Wy 113% 12 HE BN 1TH 209% 6HTX  1-7
How Wy 113% 13 HE BN 1TH 210% 67X 1-8
How Wy 113% 14 HE BN 1TH '2u$ 6HX  1-9
o'Wy 113% 15 BN 1TH 203% 67X 1-10
i LT 113% 16 RN 1TH 2027 6K 1-11
o'Wy 113% 17 HE BN 1TH 212% THX 1
e LT 1147 HWEA 1TH 212% THX 1
o W7 4% 1 WHEAR  1TH  213% X 2
R OHT 114% 2 WS 1TH 2143 THX 3
f oo 5% 1 HERE  1TH  213% O 1-1
How Wy 115% 2 HER 1TH .2M§ 9fEX  1-6
oo 6% 1 HERE  1TH | 280% 9UK 15
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Hi FELOHET 116% 2 R 1TH 2807 9K 1-5
HOEOHT 116% 3 HE BN 1TH 275% X 1-7
OB T 1163 4 HiE S 1TH 273 % 9K 1-1
HOROHT 116% 5 M 1TH 223% SHX 7-1
H FLOHET 116% 6 R 1TH 2737 9fEX 11
HOROHT 116% 7 M 1TH 2T4% 9K 1-6
HOEOHT 116% 8 HE B 1TH 274% X 1-6
HOEOHT 116% 9 HE B 1TH 276% X 1-2
HORHT 1163 10 HE BN 1TH 277% X 1-3
H FELOHET 116% 11 WS 1TH 278% 9fEX 14
HOROHT 116% 12 M 1TH 279% 9K 2

OB T 116% 13 HiE S 1TH 225% 5HIX 8

OB T 116% 14 i 1TH 2267 5K 9

How Wy 116% 15 HE BN 1TH 224% SHIX. 7-2
O HT 1178 1 IEFI0SRIC LV &G RIS

104455 1 TEIC X DI

How Wy 1175 4 HER 2TH 6% 32X 4

o'Wy 118% 1 HER 2TH 28% 298X 1

R OHT 118% 2 WS 2TH 5% 324X 3

o'Wy 119% 1 HER 2TH 29% 298X 3

e LT 119% 2 RN 2T H 4T 29f X 155
R OHT 119% 3 HE N 2TH 28% 29f5 X 1

e LT 119% 4 HWHEN R 2T H 467 297X 154
WO HT 119% 5 HEEEAS 2T H 55% 30-14HX. 5-1
How Wy 119% 6 BN 2TH 61% 30-1f X 9

WO HT 119% 7 HEEAS 2T H 61% 30- 145X 9
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) 119% 8 WEN 2TH 28% 291HIX 1
EOHT 119% 10 RS 2TH 61% 30-145X 9
M 119% 11 AN 2TH 56%% 30-1#X 5-2
EOHT 119% 12 RS 2TH 53% 30-1#5X. 3-1
BOMT 119% 13 AN 2TH 547%% 30-1#X 3-2
O OHT 119% 14 WENE 2TH 63% 30~ 11-1
O T 119% 15 WENE 2TH 60% 30-115X 8
O T 119% 16 WENE 2TH 28% 20X 1
O OHT 119% 17 WENE 2TH 663 30~ 12-1
i 119% 18 Hi S 2TH 43% 291X 15-1
O OHT 119%& 19 WENE 2TH 20% 201X 3
BOMT 119% 20 AN 2TH 62% 30-14H1X 10
BOWT 119% 21 AN 2TH 61% 30-1X 9
e OHT 119% 22 MRS 2TH 0% 30-175X  12-5
How Wy 119% 23 HE BN 2TH 467 29X 154
How Wy 119% 24 HE BN 2TH | 43% 29X 15-1
o'Wy 119% 25 BN 2TH 443 29X 15-2
i LT 119% 26 RN 2T H 45% 297X 15-3
o'Wy 119% 27 HE BN 2TH 443 29X 15-2
BOET 119% 28 RN 2T H 45% 297X 15-3
BOET 119% 29 HWRN 2T H | 547 30-1#X 3-2
BOHT 119% 30 Hi S 2TH 672 30-11HX 122
MY 119% 31 HE N 2TH | 687 30-11HX. 12-3
) 119%% 32 WED 2TH | 69% 30-115X 12-4
) 119% 33 WEAR  2TH 0% 0-1K 12-5
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OB T 119% 34 HiE S 2TH 6475 30-11HX 112
HOEOHT 119% 35 HE BN 2TH 65% 30-19 X 11-3
R T 120% 1 RN 2TH 103% 36X 4
O OHT 120%% 2 WENE 1TH 310% 108X 9
H FLOHET 120% 3 R 1TH 312% 108X 11
O OHT 1203 4 WENE 2TH 101% 36HEX. 1-1
O T 1202 5 WENE 2TH 113% 36X 1-2
O T 121% HES 2TH 40% 291X 13
O OHT 123% 1 WENE 2TH 60% 30-115X 8
H FELOHET 123% 2 WS 2TH 55% 30-11X 5-1
O OHT 123% 3 WENE 2TH 61% 30-115X 9
H FLOHET 123% 4 WS 2TH 61% 30-14X. 9
H FELOHET 123% 5 HEERS 2TH 61% 30-14X. 9
How Wy 123% 6 HER 2TH 38% 29X 10-2
How Wy 123% 7 HWER 2TH 56% 30-11HX 52
How Wy 1243% 1 HE BN 2TH 60% 30-1f X 8
o'Wy 124% 3 HER 2TH 38% 29X 10-2
O HT 125% 1 HE N 2TH 357 298X 9-1
o'Wy 125% 2 HER 2TH 35% 298X 9-1
WO HT 126% 1 HE N 2TH 367 29f7X. 9-2
O HT 126% 2 HE N 2TH 357 298X 9-1
WO HT 126% 3 HE N 2TH 357 298X 9-1
WO HT 126% 4 HE N 2TH 357 298X 9-1
How Wy 1277 HER 2TH 36% 298X 9-2
HWOEHET 128% HWEA 3TH 10% 271K 4
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) 129% 1 WEN 3TH 8% 2THEIX 3
EOHT 129% 2 RS 2TH 25% 31X 5
BOHT 130% 1 HiE S 2TH 3% 22X 2
EOHT 130% 2 RS 1TH 334% 2K 9
BOMT 1315% Hi S 3TH 116% 251X 10
HOROHT 132% 1 HE BN 1TH 18% X 4-1
HOEOHT 132% 2 HE B 1TH 247 X 4-5
HOEOHT 132% 3 HE B 1TH 35% X 87
HoEOHT 132% 4 M 1TH 220% 5K 5-1
H FELOHET 132% 5 WA 1TH 2197 5K 4
HoEOHT 132% 6 M 1TH 228% SHX 11
BOMT 1323 7 AN 1TH 2317% 5HIX 13-1
BOWT 1327 8 AN 1TH 227% 5K 10
How Wy 132% 9 HER 1TH 222% 5HIX. 6
How Wy 132% 10 HE BN 1TH 25% X 4-6
How Wy 132% 11 HE BN 1TH | 22% X 44
o'Wy 132% 12 BN 1TH 20% X 4-2
R OHT 132% 13 HE BN 1TH 37% 1% 8-8
o'Wy 132% 14 HE BN 1TH 39% X 8-9
WY 132% 15 RN 1TH 213 X 4-3
WY 132% 16 RN 1TH | 31% X 8-3
M 132% 17 HE N 1TH 32% X 84
) 132% 18 WEAE  1TH 5% X 12-1
iy 132% 19 HEARE  1TH  229% 5K 12-1
) 132% 20 WEARE  1TH  40% X 8-10
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OB T 132% 21 HiE S 1TH 33% X 85
HOEOHT 132% 22 M 1TH 343 X 8-6
Hi FELOHET 132% 23 R 1TH 67 X 2-1
HOROHT 132% 24 HE BN 1TH S X 2-2
OB T 132% 25 Hi S 1TH 43% X 9-1
HOROHT 132% 26 HE BN 1TH 57% X 12-2
HOEOHT 132% 27 HE B 1TH 8% X 2-3
HOEOHT 132% 28 M 1TH 367 X 8-11
HORHT 132% 29 M 1TH 297 X 81
OB T 132% 30 Hi S 1TH 230% SEIX 122
HOROHT 132% 31 M 1TH 19% X 47
H FLOHET 132% 32 WS 1TH 2217 5K 52
OB T 132% 33 i 1TH 567 X 12-3
How Wy 132% 34 HE BN 1TH 38% X 8-12
How Wy 1327% 35 HE BN 1TH 41% X 8-13
How Wy 132% 36 HE BN 1TH | 232% SHFX. 13-2
o'Wy 1327 37 BN 1TH 233% 5HX. 13-3
O HT 133% 1 HE N 3TH 1% 27X 1-1
o'Wy 133% 2 HER 2TH 37%& 29X 10-1
e LT 133% 3 EHIOSRIC I A EIE RS
1045855 LRIZ D THIR

O HT 133% 4 HE N 3TH 29% 27X 1-2
e LT 133% 5 LR e 3TH 178% 28X 4-5
WO HT 133% 6 RN 3TH 28% 27X 1-3
How Wy 133% 7 HER 3TH 27% 27HIX. 14
e LT 133% 8 RN 3TH 2% 27X 1-5
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WO Wy 133% 9 RN 3TH 3% 2THIX 16
O OHT 133%& 10 WENE 3TH 5 2THX. 17
WO Wy 133% 11 RN 3TH 25% 27X 1-8
O OHT 133%& 12 WENE 3TH 5 2THX. 17
WO Wy 133% 13 YEES 3TH 5% QTHIX 17
O OHT 1343 1 WENE 3TH 177% 28X 4-4
oW Wy 134% 2 IEHISRFOIHIC I &85 5

104550 1 THIZ X0 TH T
O T 134%% 3 WENE 3TH 160% 28HEHX. 4-1
OB Wy 1343 4 BN T 3TH 157% 28HX. 1
WO Wy 134% 5 NI 3TH 157% 281X 1
OB Wy 134% 6 BN T 3TH 157% 28HX. 1
WO Wy 134% 7 HEES 2TH 37% 29fHIX  10-1
WO Wy 134% 8 HEES 3TH 178% 281HIX 45
WO OHT 134 9 W 3TH 1613%& 281HIX  4-2
WO OHT 135%& 1 W 3TH 163% 28H7X. 6-1
WO OHT 135%& 2 W 3TH 163% 28H7X. 6-1
WO OHT 135% 3 W 2TH 37T%E 201HX  10-1
i wOET 135% 4 AR5 6 LI D & SR T B

104551 T=IZ XD THBR
WO OHT 135%& 5 W 2TH 37%E 208X 10-1
O Wy 136% 3 RN 2TH 37T% 29fH X 10-1
HOwE HT 136% 4 TEEIORIC I BT HIE S

1045555 1 TEIZ D Y
O Wy 136% 5 RN 2TH 38% 297X 10-2
HOwE HT 136% 6 TEEIORIC I B EEEHIE S

104555 1 TRIZ D Y
HOEOHT 1378 1 YR 3TH 1663 28H7X. 6-4
WO OHT 1378 3 BN 3TH 165% 28fH X 8
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Hi FELOHET 137% 4 R 3TH 163% 287X 6-1
O OHT 137 5 WENE 3TH 171% 28X 6-5
R T 137% 9 RN 3TH 1647% 287X 6-2
O OHT 137%& 10 WENE 3TH 171% 28X 6-5
R T 137% 11 RN 3TH 163% 287X 6-1
O OHT 137%& 12 WENE 3TH 176% 28X 6-3
O T 137%& 13 WENE 3TH 167% 281X 6-7
HOEOHT 137% 14 M 3TH 1687 281X 6-8
O OHT 137%& 15 WENE 3TH 169% 281X 6-9
H FELOHET 137% 16 WS 3TH 170% 28%E X 6-10
O OHT 137% 17 WENE 3TH 173% 28HEHX. 6-12
H FLOHET 138% 1 WS 3TH 172% 28fH X 6-13
H FELOHET 138% 3 HHI 3TH 163% 28fH X 6-1
How Wy 138% 4 HER 3TH 165% 28X 8

How Wy 138% 5 HWER 3TH 173% 28HX 6-12
o owr 130% WEAE  3TH  130E 25X 18

o'Wy 140% 1 HER 3TH 103% 25fX 2

R OHT 140% 2 HE N 3TH 1043 25( < 3

o'Wy 140% 3 HER 3TH 101% 25X 1-1
O OWT 140% 4 WS 3TH 107% 251X 5

ot oAr 140% 5 WHEARE  3TH  105% 25K 4-1
R OHT 140% 6 HE N 3TH 1067 250X 4-2
O OHT 140% 7 HE N 3TH | 102% 250X 1-2
How Wy 1415 1 HER 3TH '1w$ 28X 2

O HT 141% 2 WS 3TH '1m§: 28HX. 42

P B X R S




— (SR 13 5
ik o s L
Hi FELOHET 141% 3 R 3TH 1627% 28fH X 4-3
O OHT 1413 4 WENE 3TH 177% 28X 4-4
R T 141% 5 RN 3TH 178% 287X 4-5
O OHT 1427 1 WENE 3TH 135% 268X 3-1
H FLOHET 142% 3 R 3TH % 20X 2-2
O OHT 142% 4 WENE 3TH YES 38X 13-1
O T 142% 5 WENE 3TH 58% 38X 13-2
O T 1427 6 WENE 3TH 136% 261X 3-2
O OHT 143% 1 WENE 1TH 160% I3#X 2-1
H FELOHET 143% 2 WA 1TH 2167 5K 1

O OHT 143% 3 WENE 1TH 147% 1987X 8

H FLOHET 143% 4 HH 1TH 2177 5K 2

H FELOHET 143% 5 HHI 1TH 218% 5K 3

How Wy 143% 6 HER 1TH 47% 1K 10-1
How Wy 143% 7 HE BN 1TH 50% K 11-1
How Wy 143% 8 HER 1TH 48% X 10-2
o'Wy 143% 9 HER 1TH 161% 13X 2-2
R OHT 143% 10 BN 1TH 162% 13X 2-3
o'Wy 143% 11 HE BN 1TH 163% 134X 24
O OWT 143% 12 WS 1TH 165% 13X 2-5
o W7 143% 13 WHEARE  1TH  166% 13K 2-6
O OWT 143% 14 HEAN 1TH 167% 13X 2-7
o W7 143% 15 WHEARE  1TH  168% 13K 2-8
How Wy 144% 1 HER 1TH '1w$ 13X 1-1
e LT 144% 2 HEN 1TH '1w§ 13X 1-2
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R T 144% RN 1TH 170% 13X 14
Hi ®OHT 145% HE 1TH 43% X 9-1
o HT 1463 EHEIORIC IV E&EaHRILES
104285 1 I K0 H B
H ®OHT 147% HE 3TH 1135 271X 5-1
R T 147% RN 3TH 12% 2THIX. 52
H ®OHT 147% HFN 3TH 13% 271X 5-3
Hi ®OHT 147% HED 3TH 143 27HHIX 54
O T 1473 WENE 3TH 15% 2THX.  5-5
Hi ®OHT 147% HFN 3TH 19% 271X 56
R T 147% RN 3TH 20% 2THIIX. 57
O OHT 148% RS 3TH 16% 211K 7-1
R T 148% RN 1TH 83% 22-1#7X 8-1
53 L
R T 148% RN 1TH 118% MK 11
53 HHL

How Wy 1487 HER 3TH 18% 27HIX. 7-3
How Wy 1487 HWER 3TH 17%& 27HIX. T2
How Wy 1487 HER 3TH | 167 278X T4
o'Wy 149% HER 3TH 138% 268X 5
O HT 1507 HE BN 3TH 145% 268X 13
o'Wy 1513 HER 3TH 1343 26fH X 2
HOEOHET 152% W 1TH 112% 21X 9-1
B WY 153% AR 1TH 66 1% 16
H AT 1547 HiF2s 1TH 667 X 16
WO HT 1557 HE BN 2TH '2%5 BIHFX 6-2
How Wy 156% HER 1TH '2m$ X 9-1
e LT 157% HWEA 1TH | 333% 2K 8
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R T 158% RN 2TH 413 29M7 X 14
O OHT 159% RN 2TH 28% 201K 1

R T 1607 RN 3TH 5% 24X 24
O OHT 1613 1 WENE 3TH 5% 20X 24
R T 162% RN 3TH 139% 2 2687 IX 6-2
H ®OHT 163% HFN 3TH 139% 1 26%EX  6-1
O T 1647 1 WENE 3TH 20% 2THIX 57
O T 1647 2 WENE 3TH 21% 2THIX. 58
O OHT 1647 3 WENE 3TH 20% 2THIX. 5-9
R T 1657 RN 3TH 137% 26fH X 4

53 EHLH
O OHT 1653 WENE 3TH 151% 261X 17-1
53 EHLH

R T 1667 RN 3TH 128% 25H7 X 16
H FELOHET 167% 1 HHI 3TH 617 24%EX 1-1
How Wy 167% 5 HER 3TH 63% 248X 1-2
How Wy 167% 6 HWER 3TH 166% 28HFX. 64
How Wy 1678 7 HER 3TH | 176% 28HX. 6-3
o'Wy 1675 8 HER 3TH 64 248X 1-3
i LT 167% 9 LR 3TH 65% 241X 14
o'Wy 167% 10 HE BN 3TH 81% 248X 1-8
e LT 1677 11 HWRN 3TH 827 241X 1-9
e LT 167% 12 HWRN 3TH 627 247X 1-10
e LT 168% 1 HWHEN R 3TH 65% 24THX 14
e LT 168% 4 RN 3TH 8% 247X 1-5
How Wy 1687 5 HER 3TH 9% 248X 1-6
e LT 168% 6 LR 3TH 80% 24%HX 1-7
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Hi FELOHET 169% R 3TH 697 247X 20-2
O OHT 169% RN 3TH 743 24X 23
R T 1697 RN 3TH 112% 25(7 X 9-1
H ®OHT 169% HE 3TH 113% 251HX  9-2
R T 1697 RN 3TH 114% 25(7 X 9-3
H ®OHT 169% HFN 3TH 115% 251EX 94
O T 169% WENE 3TH 68% 244X 20-1
O T 169%& WENE 3TH 73% 24X 20-3
O OHT 170% R 3TH 467 38X 4
R T 170% RN 3TH T4% 24X 23
O OHT 1713 WENE 3TH 37 23X 8
R T 172% RN 3TH 487 38X 6
R T 172% RN 3TH 3T& 23X 8
How Wy 1727 HER 3TH 35% 238X 6
How Wy 1727 HWER 3TH 34% 238X 5
53 AL
How Wy 1727 HER 3TH 36% 23X 7
53 EH
o'Wy 172% RS 3TH 110% 258X 8-1
HOEOHET 172% HWEA 3TH 111% 25%H X 8-2
o'Wy 173% RS 1TH 109% 218X 7-1
WO HT 1733 HE BN 1TH 1103 218X 7-2
HOEOHET 174% HWEA 1TH '1m§ 21X 9-1
HOEOHET 174% HWEA 1TH 102% 21X 2-1
HOEOHET 174% HEA 1TH 'unﬁ 21X 2-2
How Wy 1747 HER 1TH 88% 22-115IX. 12-1
HWOEHET 174% HWEA 1TH '135 21X 9-2
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Hi FELOHET 174% 6 R 1TH 114% 217X 9-3
O OHT 1743 7 WENE 1TH 115% 21X 9-4
R T 174% 8 RN 1TH 116% 21X 9-5
O OHT 1743 9 WENE 1TH 117% 214X 9-6
OB T 174% 10 Hi S 1TH 897 22-11HIX 122
O OHT 175% WENE 3TH 35% 23X 6
O T 176% HES 3TH 143% 268X 11
O T 1773 WENE 3TH 35% 23X 6
O OHT 178% 1 WENE 1TH 130% 17T#X 12
R T 178% 2 RN 3TH 30% 23X 1-1
O OHT 178% 3 WENE 3TH 30% 23X 1-2
R T 179% 1 RN 1TH 121% 17X 3
R T 179% 2 RN 3TH 30% 23X 1-1
How Wy 179% 3 HER 3TH 30% 23X 1-2
How Wy 179% 4 HWER 3TH 30% 23X 1-2
How Wy 179% 5 HER 1TH '925 174X 4
o'Wy 179% 6 HER 1TH 139% 181X 10
i LT 179% 7 LR 1TH 137% 18X 9
o'Wy 179% 8 HER 1TH 123% 17X 5
e LT 179% 9 LR 1TH 122% 178X 4
e LT 179% 10 RN 1TH | 123% 1TH#X. 5
e LT 179% 12 HWRN 1TH 1227% 178X 4
e LT 179% 15 RN 1TH 'pwﬁ 198X 9-1
How Wy 179% 16 BN 1TH '1%$: 191X 9-2
e LT 179% 17 RN 1TH 'pwﬁ 198X 9-1
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Ly 180% 1 HiE S 1TH 152% 198X 11-2
EOHT 180% 2 RS 1TH 151% 191X 11-1
M 1817 1 AN 1TH 149% 198X 10-1
EOHT 181% 2 RS 1TH 150% 191X 10-2
BOMT 1813 3 AN 1TH 153% 198X 10-3
O OHT 181% 4 WENE 1TH 154% 197X 10-4
HOEOHT 1813% 5 HE B 1TH 155% 194X 10-5
O T 182% 1 WENE 1TH 157% 1 198X 12-1
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HOEOHET 326% HWEA 2T H '1w%: 33EHX 1-1
HOEOHET 3267 W 2T H 140% 33X 1-2
HOEOHET 3267 RN 2T H | 141% 33X 1-3
How Wy 3277 HER 2TH | 128% 35X 2
HWOEHET 328% HWEA 2T H | 131% 35fX 51
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R T 328% RN 2TH 132% 35X 5-2
HOEOHT 329% HE 2TH 141% 33EHX 1-3
R T 329%F RN 2TH 148% B 5-1
HOROHT 329% HE 2TH 149% 33EHX 52
R T 329%F RN 2TH 143% 3B 1-5
HOROHT 329% HFN 2TH 142% 33EHX 14
HOEOHT 329% HED 2TH 143% 33EHX. 15
O T 329% HES 2TH 151% 33X 1-6
HORHT 332% HFN 2TH 127% 35T 1
R T 333%F RN 2TH 127% 35K 1
HOROHT 336% HF 2TH 107% 36X 7
o HT 337%& EEORICEDE&EHRILS
10455 1TEIZ LTI
R T 338%F RN 2TH 1047% 36HTX 5-1
How Wy 339% WD 2TH 104% 36HIX. 51
How Wy 340% HWER 2TH 1097 36HIX 9
How Wy 341% HER 2TH '1m$ MK 7
O HT 3427 IEFI0SRICEVEEIE RIS
10455 1 L0 H

H AT 343% HiEs 2TH 109% 361X 9
o'Wy 343% WD 2TH 120% 3THIX. 7-1
HOEOHET 343% HWEA 2T H 110% 36X 10
HOEOHET 343% HWEA 2T H | 121% 3T T2
HOEOHET 343% HWEA 2T H 122% 3T 73
e LT 3447 HEA 2TH '1m§: 36%EX 10
How Wy 3447 HER 2TH '1w$ 36HIX 11-2
HWOEHET 345% HWEA 2T H | 110% 36X 10
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Hi FELOHET 345% HEES 2T H 112% 36X 11-2
Hi ®OHT 346% HE 2TH 1213 3THEHIX 72
R T RUYE:S RN 2TH 121% I 72
H ®OHT 348% HE 2TH 134% 356HX 6-2
R T 349% EHEIORIC IV SEaHRILES
104285 1 I KD H B

O OHT 3507 R 2TH 343K 291X 8
O T 3513 WENE 2TH 134% 35H X 6-2
O T 3513 WENE 2TH 134% 35H X 6-2
O OHT 3527 R 2TH 134% 351K 6-2
R T 3527 RN 2TH 129% 35MHX 3
O OHT 3527 RS 2TH 134% 35K 6-2
H FLOHET 353% WS 2TH 137% 35fEX. 6-10
R T 353 RN 2TH 135% 35H7X 6-8
How Wy 353% RS 2TH 134% 35HIX. 6-2
How Wy 354% HWER 2TH 138% 35HFX. 6-11
o owr 354% WEAE  2TH  I3E 35K 6-1
o'Wy 355% RS 2TH 133% 358X 6-1
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